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Mr. Schlansky Geometry

Transformations Review Sheet

1. If AA4'B'C is the image of /A ABC, under which transformation will the triangles not be congruent?
1) reflection over the x-axis _@ilation centered at the origin with scale factor 2 /
2) translation to the left 5 and down 4  4) rotation of 270° counterclockwise about the origin m"b
bﬁ @ d:lahw;

2. Under which transformation would /A A4' B'C", the image of AABC, Wt to AABC?
1) reflection through the point (2,-1) o ,
2) rotation of 90° clockwise about the origin Md)*}’bi @ d’ I" 'VM
3) translation of 3 units right and 2 units down
dilation with a scale factor of 2 centered at the
origin

3. What is the image of ALMN with vertices L(2, 3) M(5,1) and N(7,3) after a translation 2

units to the left and 4 units up? (CLV’ ~

y

N

Ll U
A
/4 "
7
3
[ 1

42



4. Graph the image of quadrilateral ADEF with vertices 4(4,-1),D(8,-2),E(6,3), and
F(2,7)after a translation 5 units to the left?
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5. In the diagram below, A ABC is graphed. Graph and stat?g_Ws of the image of

AABC after a reflection through (-2,3) and labe] it A4'B' P
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6. Triangle RST is graphed on the set of axes below. Graph the image of ARST after a point
reflection through (0,2) and label it AR'S'T".
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7. On the grid below, graph and label triangle ABC with vertices A(3,1), B(0,4), and C(-5,3).
On the same grid, graph and label trlangle A'B'C’, the image of ABC after a reflection over
y=-L lounk 40 what Jouire {aflect LY " om ifeckon T —
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8. Triangle ABC has coordinates A(2, 1), B(6,1), C(5,3). What is the image of this triangle after
a reflection over the line x=4 . Graph both the image and the pre image.
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9. Triangle A'B'C' is the image of triangle 4BC after a translation of 2 units to the right and 3
units up. Is triangle ABC congruent to triangle 4'B'C"? Explain why.
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10. After a reflection over a line, AA'B'C" is the image of AABC. Explain why triangle 4BC is
congruent to triangle AA'B'C”,
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11. After a counterclockwise rotation about point X, scalene triangle ABC maps onto /A RST, as
shown in the diagram below. .

S
Which statement must be true? ]
A= LR Ak C 23
2) LA=/S

3) @gzﬁ
4) cA=TS




12. In the diagram below, a sequence of rigid motions maps ABCD onto JKLM.

Which of the following statements must be true?
3) ZL=/B 3) JK = AC

A YA= 4) JM = AB
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13. Which gef/ﬂ: following sequences of rigid motions would map AGIA onto AJET ?
X 1) point refléction through (0.5,0.5) followed by a translation

11 right and 1 down
eflection over the y-axis followed by a translation

~ right 1 and down 1

X?a) rotation of 90 degrees clockwise centered at the origin
followed by a translation right 1 and up 1

)<4) reflection over x=1 followed by a reflection over

the x-axis
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14. Identify which sequence of transformations could map pentagon ABCDE onto pentagon

A”B”C”D”E”, as shown below.

c

‘/(1) dilation followed by a rotation
A=2) translation followed by a rotation
‘ @ line reflection followed by a translation
4) line reflection followed by a line reflection
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15. On the set of axes below, A4BC = ADEF. Describe a sequence of rigid motions that maps

AABC onto ADEF.
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16. On the set of axes below, pentagon ABCDE is congruent to 4"B"C"D"E". Describe a
sequence of rigid motions that maps pentagon ABCDE onto A"B"C"D"E".
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17. Quadrilateral DEAR and its image, quadrilateral D'E'A'R’, are graphed on the set of axes
below. Describe a sequence of transformations that maps quadrilateral DEAR onto quadrilateral

DEAR'. O‘W)
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18. Quadrilaterals BIKE and GOLF are graphed on the set of axes below. Describe a sequence of
transformations that maps quadrilateral BIKE onto quadrilateral GOLF.
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19. Triangle ABC is graphed on the set of axes below. »

Which transformation maps AABC onto itself? | N
1) Reflection over the x-axis AL, | 'j>3 =,
2) Reflection over x =2 <

&) Reflection over y =2 ~

4) Reflection over x =—2
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20. Which transformation does not map the circle in the diagram below onto itself?

—

1) Rotation of 90 centered at the origin

2) Reflection over the line x =—3
3) Rotation of 90 centered at (—3,—4)

4) Reflection over the line y = —4

21. A regular octagon is rotated » degrees about its center, carrying the octagon onto itself. The

& 225:45(5)

4) 252°

value of n could be
1) 10°
2) 150°

22. Which of the following rotations would not map a regul

(1) 1442 (3)216 723)
@120 (4) 720 712 jo)

Spiral Review
Complex Triangle Problems:

—

e

1) The three angles of a triangle add to equal 180°. Look for triangles.
2) Linear pairs add to 180°. Look for linear pairs.

3) Isosceles triangle has congruent angles opposite congruent sides (given congruent sides).
4) Equilateral triangle has angles 60, 60, 60 (given equilateral triangle).
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ar pentagon onto itself?

5) An angle bisector cuts an angle into two congruent halves (given bisected angles).

6) Use parallel lines cut by a transversal (extend and follow the transversal, fill in 8 angles.)

23. In the diagram below of ﬂACDﬁnt on AC such that AADB is an equilateral triangle, and

ADBC is an isosceles triangle with 2B = B
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24. Given AABC with m/5B = 62° and side AC extended to D, as shown below.
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Which value of x make@ __.SCi
1) 59° e 3) 118°

2) 6 AL T3
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